QL

Edexcel
Mathematics (Linear) — 1MAQ

Materials required for examination Items included with question papers
Ruler graduated in centimetres and Nil

millimetres, protractor, compasses,

pen. HB pencil, eraser.

Tracing paper may be used.

Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name, centre number and candidate number.
Answer all questions.

Answer the questions in the spaces provided — there may be more space than you need.
Calculators may be used.

Information

The marks for each question are shown in brackets — use this as a guide as to how much time to
spend on each question.

Questions labelled with an asterisk (*) are ones where the quality of your written communication
will be assessed — you should take particular care on these questions with your spelling, punctuation
and grammar, as well as the clarity of expression.

Advice

Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.
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(a) Write the number 0.00037 in standard form.

(1)
3. Fx 10T
. 3 .
(b) Write 8.25 x 103 as an ordinary number.
(1)
.............. B L
(¢) Work out (2.1 x 10%) x (6 x 10™).
Write your answer in standard form.
2.1 x10% x & % 1077
- 12.6 x 1D
= |, 26 x ID¥
!;‘
‘ ,lt ¢ 'C_)H i J

..........................................................................

(4 marks)

(a) Write 6.43  10° as an ordinary number.

ouwl30o0o

.....................................

(b) Work out the value of 2 x107 x 8 x107"
Give your answer in standard form.

2 167 x ¥ < 107'?

L

— I(, < |O-‘S

1]

6 x 1O

....................................

(3 marks)




3.

4.

(a) Write down the value of 10°

(b) Write 6.7 X 107 as an ordinary number.

(¢) Work out the value of (3 % 107) X (9 x| 0%
Give your answer in standard form.

3 <10 x a4 x10°
= 23 x\0'®
= 2.9 ><lO'H

..............................................

..........................................................................

(4 marks)

(a) Write 8.2 x 107 as an ordinary number.

(b) Write 0.000 376 in standard form.

() Work out the value of (2.3 x 10'%) + (4.6 x 10%)
Give your answer in standard form.

p ~\ L
2.3 =107 o5 o 10°
: . 2 = ‘
l+,b )(\O )
= & xiD®

....................................................................

(1
3,16 <O t
1
S <O
2)

(4 marks)




n

A floppy disk can store 1 440 000 bytes of data.

(a)  Write the number 1 440 000 in standard form.

(.44 %10
1)
A hard disk can store 2.4 x 107 bytes of data.
(b) Calculate the number of floppy disks needed to store the 2.4 x 107 bytes of data.
2.4 x qu - .44 x]CL = \6bk.6
167 4 i0PPY dises neooled
&)

(4 marks)

(a) (i) Write 40 000 000 in standard form.

...................................

(i) Write 3 x 107> as an ordinary number.

0O .COO 03

...................................

()
(b) Work out the value of
3 x 107 x 40 000 000
Give your answer in standard form.
2 <10 S5 U x N
= | w10 L2 <10>
. et 00 —ee—— o

(4 marks)




(a) Write the number 40 000 000 in standard form.

= x \O
1)
(b)Y Write 1.4 10“5 as an ordinary number.
C.Cooo \Y4
1)
(¢) Work out
5 x 10% x (6 x 10%)
Give your answer in standard form.
T xIOY x &x O
i3
= 3 D \
¥ " 3 % 1O
= _3 < ‘D\ .................................
' @
(4 marks)
(a) Write 6.4 ~ 10% as an ordinary number.
............... B e ey
1)
(b) Write 0.0039 in standard form.
2,9 x10” >
1
(¢) Write 0.25 x 107 in standard form.
2.5 % 10
(1)
) Workout (3.2 % 10%) x (4.5 x 10%) in standard form.
2,2 <105 x 4.S=<i1OY
;\L-L,'—#xlcq '_L';_LLXID‘G
£ joud ¥10 )

(5 marks)




9. (a (i) Write 7900 in standard form.

(i)  Write 0. 00035 in standard form.

.....................................

2)
T E
(by Work out aicd -
§x10™
Give your answer in standard form.
L x 1O = 3
i—=—— - DS %10
o ~ S
e —
R = § %10
S 10
)
(4 marks)
16. (a) Write 30 000 000 in standard form.
2% 107
(1
(b) Write 2 x 1073 as an ordinary number.
O.0C 'L
(1)
(2 marks)
11, (a) Write 5.7~ 1 0% as an ordinary number.
O .OOCS”
»
(b) Work out the value of (7 x 104) x (3 % 10°)
Give your answer in standard form.
Y > I >
e 2.8 .
= 2. x 10" )

(L]
= D110

(3 marks)




12.  Write the following numbers in order of size.
Start with the smallest number.

0.038 x 10 3800 x 107 380 0.38 « 107
2.3 % {0° 3E i 383%10° 2.%%I107"

...........................................................................................................................................................

(2 marks)

13. The time taken for light to reach Earth from the edge of the known universe is 14 000 000 000 years.
Light travels at the speed of 9.46 x 10" km/year.

Work out the distance, in kilometres, from the edge of the known universe to Earth.
Give your answert in standard form.

$:j—>F D= 94exiD % 1.4x0
e ST = 12,244 ¢ \O

2T
= ,22u4 % 10"

j.320 W xtOLg

(3 marks)

14.  The surface area of Earth is 510 072 000 kmfo .
The surface area of Jupiter is 6.21795 » 1018 km”~.

The surface area of Jupiter is greater than the surface area of Earth.
How many times greater?
Give your answer in standard form.
6. 21 T9S x10°° &5 510037 > 107 = 1 90339%
= AL 22V N
=i22 (3sf)
= 1.2 xio* L3s{ )

e 22 % 104 (53()

...........................................




p =
xy
x=8.5x10°
p=4x 108
Find the value of p.

Give your answer in standard form correct to 2 significant figures.

. Sx< 107 _ LI—YID%

P7_: {5,|s<"|oq
R.Sx109 x 52 4 O° 3,4 x10'F
= 2.3823% .. L alk
= 2. w10 (2s8),
p=4V2.38235...%10° "
= U 8025, x 1O "
= 4.9 "y - (2$-(‘>
w5 eve = (et )
SY A AR
(4 marks)
6. Ve = ab
. a+b
a=3%108
b=2x%107
Find y.

Give your answer in standard form correct to 2 significant figures.
,  2xID®x 2x10"
v M 2 D% % L iOF
= GelCE
2.l x ol

= 1BASC oD
G = 183Scoo0
= 4220 2R
= uzoco (2s()
= 4.2 <0 (2sf)

.........................

(4 marks)




